1. Choose equations true by adding parenthesis. ()

5 - 2 - 1 = 4

<u>A.5-(2-1) =4</u>

<u>B. (5-2)-1=4</u>

2. Choose equations true by adding parenthesis ().

6-4-1=3 <u>A. (6-4)-1=3</u> <u>B.6-(4-1)=3</u>

3. Choose equations true by adding parenthesis ().

6-5-1=2 <u>A. (6-1)-5=2</u> <u>B. 6-(5-1) =2</u>

4. Choose equations true by adding parenthesis ().

5-3-1=3 <u>A.5-(3-1)=3</u> <u>B. (5-3)-1=3</u>

5. Choose equations true by adding parenthesis.()

13 – 11 -1 = 3 <u>A. (13-11)-1=3</u> <u>B. 13-(11-1) =3</u> You are right!